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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one ——----—---—- many explorers like Christopher
Columbus confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers --=------=-=-=- to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This --~---—eeew=-- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --——---——----- effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the —---ereeeeev
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would —---semeeemeee- after graduation, she was worried that she
would not see her friends anymore.
1) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain -------——------ in ways that can
keep seniors just as sharp as youngsters.
1) composes 2) conveys 3) compensates 4) corrodes

8- It is argued by some that hypnosis is an effective intervention for -------—--- == pain from
cancer and other chronic conditions.
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get —----eemeeeeee atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional

10- The post office has promised to resume first class mail —-—-—--—--—to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeee 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—mmmmmmmmmeem . actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) ------- in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that $Hit

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

One of the first questions you should ask during the software evaluation phase is
whether you are looking for a short-term or a long-term solution. In some cases. a
company must solve its budgeting and reporting issues immediately. and doesn't have
time to do an in-depth analysis of long-term organizational needs or platform
requirements. Perhaps this is because a "home-built" analytics model no longer works
properly or is too hard to maintain. Or the reason may be related to organizational
politics, and you cannot afford to wait any longer for certain parties to provide their
input as to your software needs. However, in most cases, companies that invest in best-
of-breed analytics software are planning to stay with it for a long time. not only
because it usually represents a significant investment in terms of money, consulting,
and user training. but also because of the total time involved in setting up data
extraction. gonversion and loading procedures, and reports. This is not a process you
and your coworkers want to go through every year.

In other words, if you are seeking a short-term solution, you should not be
considering the most expensive and most complex analytics packages. But if you are
making a long-term investment, you should spend sufficient time looking into needs,
product and vendor capabilities. and long-term maintenance costs, and focus
somewhat less on acquisition and implementation costs.
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What does the passage mainly discuss?

1) Choosing a software package for immediate budgeting and reporting issues

2) Different phases in software evaluation

3) Analytics software selection for the near future versus the long run

4) Comparing and contrasting home-built analytics packages with expensive and
complex packages

According to paragraph 1, a reason why a company may need a short-term solution

during the software evaluation phase is --——---—----

1) its current analytics model cannot be used anymore

2) it cannot afford to purchase an authentic analytics model

3) the previous software package has become obsolete

4) the input of particular parties should become immediately available

The word *conversion™ in paragraph 1 is closest in meaning to ---------- ——
1) selection 2) expansion 3) assessment 4) change
The second paragraph serves primarily to ---—--—---- >

1) contradict an assumption made in paragraph |

2) restate and clarify the main points of paragraph 1

3) present an alternative explanation for a phenomenon

4) advise against a commonly made mistake

It is implied in paragraph 2 the acquisition and implementation costs should be carefully
considered by a company ---------—--- .

1) when it is looking for an immediate solution

2) after it has spent adequate time on needs analysis

3) if maintenance costs are not an issue

4) before it makes a long-term investment on an analytics package

PASSAGE 2:

Recession in many markets. combined with new sources of competition. has raised the
consciousness of customers towards value. 'Value' in today's context does not just
mean value for money, although that is certainly a critical determinant of purchase for
many buyers; it also means perceived benefits. Customers increasingly are demanding
products with added value, but at lower cost, hence the new competitive imperative is
to seek out ways to achieve precisely that.

Michael Porter (1980, 1985) was one of the first commentators to highlight the
need for organizations to understand that competitive success could only come through
cost-leadership or through offering clearly differentiated products or services. Porter's
argument was that a company with higher costs and no differential advantage in the
eyes of the customer was in effect a commodity supplier with little hope of long-term
success unless it could find a way out of the box. His prescription was that the
organization should seek to become either a low-cost producer or a differentiated
supplier.

However, in reality it is not sufficient to compete only on the basis of being the
lowest-cost supplier. The implication of this is that a competitor in the bottom right-
hand corner has to compete on price—if a company is only a cost leader, how else can
it compete? Competing solely in terms of price will merely reinforce the customer’s
view that the product is a commodity—the very thing the company wishes to avoid. On
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the other hand, a strategy based upon differentiation will make it possible to compete
on grounds other than price. While value for money will always be an issue, the aim is
to increase the customers' perception of the values they are receiving and hence their
willingness to pay a higher price.

In today’s market, value for money -----seeeeeev,

1) serves a critical role in consciousness-raising of many buyers
2) is receiving considerably less attention from customers

3) has become customers' first and foremost concern

4) is one of the most significant criteria of buying a product

The word “that” in paragraph 1 refers to ---—eeeeeeev,

1) the new imperative for competition 2) increased value at a lower price
3) boosted demands for products 4) added quality and quantity
According to Porter, all of the following are true EXCEPT -—ecemmeeeee,

1) offering products at lower cost can result in competitive success

2) companies need to learn about the factors that lead to competitive success

3) cost-leadership is achieved when a company charges a higher price without losing
its customers

4)a company with differentiated products at higher cost may achieve long-term
success

According to paragraph 3, organization are likely to suffer which of the following as a

consequence of competing merely on price?

1) The final price of all competitors drops.

2) They turn into a commodity supplier in the customers’ eyes.

3) Customers’ willingness to pay a high price for a product decreases.

4) They sell more products without earning higher profits.

It can be understood from paragraph 3 that --—---——--- -

1) cost-leadership and differentiation are not equally effective strategies

2) being a cost leader can best serve the interests of a company

3) a strategy based upon differentiation is only profitable when the prices are high

4) instead of competing, companies should work together to increase customers’
willingness to pay a higher price

PASSAGE 3:

A 'push’ system of manufacturing is one where goods are produced against the
expectation of demand. In other words goods are not produced specifically to order but
are produced against a forecast demand. Demand forecasting has to be carried out
where raw material suppliers' lead times for delivery have to be considered. If there is
a one-month lead time for a given raw material then it will be necessary to forecast
what the level of demand for the finished product will be in one month's time. These
forecasts are usually based on historical sales information. The difficulty arises when
either there is a higher level of demand than expected and sales are lost, or there is a
lower level of demand and finished product stocks grow too large. Lost revenue from
missed sales opportunities is the result on the one hand. and higher inventory carrying
costs or product obsolescence costs are the result on the other. MRPII (incorporating
MRP) is a 'push’ system.
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A 'pull' system of manufacturing is one where goods are only produced against
known customer orders. This is because only actual orders from customers are being
produced on the production line. None of the goods are being made to keep as finished
product stocks that may be sold at a later date. It is said that this type of firm customer
order is 'pulling' all the materials through the process from the material suppliers and
culminating in the delivery to the final customer. Just-intime is a 'pull' system.

26- The passage primarily discusses --——---—-- 5
1) two different systems of production
2) two theories about supply and demand
3) manufacturing against the expectation of demand
4) new techniques for manufacturing productivity

27- In the “push” system of manufacturing, the time for which the level of demand is
forecasted is determined by -----—se--,
1) a one-month lead time for raw materials
2) the information available regarding current orders
3) the average time the products can be kept as stocks
4) the lead times for delivery of raw materials

28- The word “revenue” in paragraph 1 could be best replaced by «----eeeeev,
1) anxiety 2) data 3) equipment 4) profit
29- A consequence of having a lower level of demand than expected is «-=eeeeee-,
1) reduced finished product stocks 2) missed sales opportunities
3) additional inventory carrying costs 4) lost potential customers
30- It can be understood from the passage that the pull system of manufacturing ----------- ¥

1) is more likely to avoid product obsolescence costs

2) is not as profitable for producers as the push system

3) looks for customer orders after the manufacturing process is complete

4) attempts to always have substantial amounts of finished products in stock
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